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6.1 + 0.3 =

[1 mark]

1
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2.5 + 0.05 =
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2
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Write the two missing values to make these equivalent fractions correct.
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Circle two numbers that add together to equal 0.25
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4 – 1.15 =

[1 mark]

4
4

[2016]

Circle two numbers which add to make 0.12

cm

cm

5

10

15

4 – 1.15 =

[1 mark]

4
4

[2016]

11

1 mark

12

1 mark

9

Leon and Sara each started with different numbers.

Leon and Sara both get the same answer.

What numbers could they have started with?

Leon Sara

I subtracted 8
 from my number.

Leon Sara

12

I added 5
 to my number.

Circle two numbers which add to make 0.12

0.1 0.5 0.05 0.7 0.07 0.2

11

[1 mark]

5
5

[2000]

9 – 3.45 =

[1 mark]

6
6

[2017]

[1 mark]

5
5

[2000]

9 – 3.45 =

[1 mark]

6
6

[2017]

 15 Total out of 4

Circle two decimals that have a difference of 0.5

0.2 0.25 0.4 0.45 0.6 0.75
14

1 mark

14

Each of these cards has two numbers on it.

6

4

1

7

5

7

3

5

6

2

6

6

Stefan chooses one card without looking.

He adds the two numbers together. 

What is the most likely total of the numbers on his card?

15

1 mark

15

289982_KS2Ma_2009_081212_v0.0_Ho15 15289982_KS2Ma_2009_081212_v0.0_Ho15   15 09/12/2008 16:28:0609/12/2008   16:28:06

[1 mark]

7
7

[2009]
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  Two decimal numbers add together to equal 1 
 
One of the numbers is 0.007

What is the other number?

 

 

1 mark

 

12

1 mark
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 Here are four fraction cards.

3
4

5
8

6
12

7
16

Use any three of the cards to make this correct.

< <
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[1 mark]

8
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[2016S]

15.4 – 8.88 =

[1 mark]

9
9

[2016S]
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  Jacob cuts 4 metres of ribbon into three pieces.

 The length of the first piece is 1.28 metres. 
 
 The length of the second piece is 1.65 metres. 
 

Work out the length of the third piece.

Show 
your 

method

metres

6

2 marks
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[2 marks]

10
10

[2016]



3.005 + 6.12 =

[1 mark]

11
11

[2016]

2.7 + 3.014 =

[1 mark]

12
12

[2017]

15.98 + 26.314 =

[1 mark]

13
13

[2016]



125.48 – 72.3 =

[1 mark]

14
14

[2016]

Circle the two decimals which are closest in value to each other.

5

10

15

125.48 – 72.3 =

[1 mark]

14
14

[2016]

Total11

Find the value of t in this equation.

33 – 8t = 15

9

2 marks

Circle the two decimals which are 
closest in value to each other.

0.9 0.09 0.99 0.1 0.01 10

1 mark

9

10

[1 mark]

15

15
[2002]

37.8 – 14.671 =

[1 mark]

16
16

[2017]

[1 mark]

15
15

[2002]

37.8 – 14.671 =

[1 mark]

16
16

[2017]
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Write in the missing number.

 

8.5  +  14.7  =  10.2  + 
 

14

M0217  Num           N3k1 N2a1 L4  

14

1 mark

M003509  –  14 August 2014 10:52 AM – Version 2

One jug contains water and the other jug contains oil.

  

200ml

400ml

600ml600ml

Water Oil

200ml

400ml

600ml600ml

How much more oil is there than water?

 
ml

 
15

1 mark

15

M003614_jugular SSM SSM4b2 L4

M003614  –  14 August 2014 10:08 AM – Version 2

D00070A01524

[1 mark]

17
17

[2015]
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Alfie says,

‘When you multiply two numbers together, the answer  
is always greater than either of the numbers you  
started with.’

Is Alfie correct? 
Circle Yes or No.

 Yes / No

Explain how you know.

23

1 mark

23

M01078 productive Num N3f N3h1 N1j L5 UAM non-calc

M003758  –  13 August 2014 4:30 PM – Version 2

D00060A02124

[1 mark]

18
18

[2015]

1.28 × 100 =

[1 mark]

19
19

[2016S]



0.04 ÷ 10 =

[1 mark]

20
20

[2017]

0.9 × 200 =

[1 mark]

21
21

[2017]

The number in a box is the product of the two numbers below it.

Write the missing numbers.

5

10

15

15 × 6.1 =

[1 mark]

23
23

[2016]
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 Here is a number pyramid. 
 
 The number in a box is the product of the two numbers below it.

Write the missing numbers.

22.5

5

2  

2 marks

 

14

2 marks
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[2 marks]

24

24
[2016S]

[2 marks]

22
22

[2016S]
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cm
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10

15

0.9 ÷ 10 =

[1 mark]

23

23
[2016]

cm

cm
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 At the start of June, there were 1,793 toy cars in the shop. 
 
  During June, 

 
• 8,728 more toy cars were delivered 
 
• 9,473 toy cars were sold.

How many toy cars were left in the shop at the end of June?

2 marks

Show 
your 

method

4C4  coupé

8

KS2 item template version 1.2
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15 × 6.1 =
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The number in a box is the product of the two numbers below it.

Write the missing numbers.

5

10

15

15 × 6.1 =

[1 mark]

23
23

[2016]
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[2016S]

[2 marks]

24
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1.52 × 6 =

[1 mark]

25
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[1 mark]

24

24
[2016]
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15 × 6.1 =
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[2016]

The number in a box is the product of the two numbers below it.

Write the missing numbers.

5

10

15

15 × 6.1 =

[1 mark]

23
23

[2016]
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The number in a box is the product of the two numbers below it.
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[1 mark]

25
25

[2016S]

Write two decimals, each less than 1, which multiply to make 0.1

cm

cm

5

10

15

This number sequence follows the rule

‘subtract 10, then divide by 10’

Write the two numbers missing from the sequence.

Write two decimals, each less than 1,
which multiply to make 0.1

1

120 11 0.1

t = 0.1 2

1 mark

2

3

1 mark

1a

1 mark

1b

1 mark

This four digit number is a square number.

Write in the missing digits.

3

2

[1 mark]

26

26
[2001]

[1 mark]

26
26

[2001]


